
Integrales inmediatas

Función simple Función compuesta

∫dx=x+k

∫ xndx=
xn+1

n+1
+k (n≠−1) ∫f n · f 'dx=

fn+1

n+1
+k (n≠−1)

∫
1
x
dx= ln|x|+k ∫

f '
f
dx= ln|f|+k

∫e
xdx=ex+k ∫e

f · f ' dx=ef+k

∫axdx=
ax

ln a
+k ∫af · f 'dx=

af

ln a
+k

∫sen x dx=−cos x+k ∫sen f · f ' dx=−cosf+k

∫cos xdx=sen x+k ∫cos f·f ' dx=sen f+k

∫
1

cos2x
dx=∫ sec

2x dx=

=∫ (1+tg2x )dx=tg x+k

∫
f '

cos2 f
dx=∫ f '· sec

2 f dx=

=∫ (1+tg2 f)· f ' dx=tg f+k

∫
1

sen2x
dx=∫ cosec

2xdx=

=∫(1+cotg2x)dx=−cotg x+k

∫
f '

sen2f
dx=∫ f ' cosec

2f dx=

=∫f '(1+cotg2f )dx=−cotg f+k

∫
1

√1−x2
dx=arcsen x+k ∫

f '

√1−f2
dx=arcsen f+k

∫
−1

√1−x2
dx=arccos x+k ∫

−f '

√1−f2
dx=arccos f+k

∫
1

1+x2
dx=arctg x+k ∫

f '

1+f2
dx=arctg f+k

Reglas de integración

[∫f (x )dx ]
'
=f (x)

∫f ’ (x )dx=f (x )+C

∫ [f (x)±g (x )]dx=∫ f (x)dx±∫ g(x)dx

∫ k·f (x)dx=k·∫f (x )dx


